Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

9,875+ 100

2,218 x 100

5,55 x 100

0,327 = 100

5,319+ 100

5,507 = 100

7,894 x 100

8,72 x 100

7,683 x 100

5,103 x 100

7,039 =100

0,295 = 100

4,214+ 100

2,059 x 100

7,835+ 100

3,195 100

3,633 x 100

6,786 <+ 100

3,602 x 100

5,768 - 100
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

9,875+ 100
0,09875

2,218 x 100
221,8

5,55 x 100
555
0,327+ 100
0,00327
5,319+ 100
0,05319
5,507 = 100
0,05507
7,894 x 100
789, 4
8,72 x 100
872

7,683 x 100
768,3

5,103 x 100
510,3

7,039 = 100
0,07039
0,295 = 100
0,00295
4,214 =100
0,04214

2,059 x 100
205,9

7,835+ 100
0,07835

3,195+ 100
0,03195

3,633 x 100
363,3
6,786+ 100
0,06786
3,602 x 100
360,2
5,768 + 100
0,05768
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